



# Quasi-Hadamard product of certain classes with respect to symmetric points connected with $q$ -Salagean operator

Sheza M. El-Deeb<sup>a</sup>

<sup>a</sup>Department of Mathematics, College of Science and Arts, Al-Badaya, Qassim University, Buraidah, Saudi Arabia – Department of Mathematics, Faculty of Science, Damietta University, New Damietta 34517, Egypt

## Abstract

The foremost determination of this paper is to attain results associated with the quasi-Hadamard product of certain starlike and convex functions with respect to symmetric points related with  $q$ -Salagean operator.

**Keywords:** Quasi-Hadamard product, symmetric points,  $q$ -Salagean operator

**2010 MSC:** 05A30, 30C45, 11B65, 47B38

## 1. Introduction

Let  $\mathbb{A}$  denote the class of analytic functions of the form:

$$h(z) = z + \sum_{k=2}^{\infty} a_k z^k \quad (z \in \Delta = \{z : z \in \mathbb{C} \text{ and } |z| < 1\}) \tag{1.1}$$

and  $S$  be the subclass of  $\mathbb{A}$ , which are univalent functions.

Srivastava [17] presented and inspired about brief expository outline of the classical  $q$ -analysis versus the self-styled  $(p, q)$ -analysis with an obviously terminated additional parameter  $p$  (see Srivastava and Karlsson [18, pp. 350–351], Srivastava [15, 16]).

We recall some basic definitions and concepts details of the  $q$ -calculus (see [1, 9, 10]).

**Definition 1.1.** Let  $0 < q < 1$ , the  $q$ -number  $[\gamma]_q$  and  $[\gamma]_q!$  are defined by

$$[\gamma]_q := \begin{cases} \frac{1-q^\gamma}{1-q} & \gamma \in \mathbb{C} \\ 1 + \sum_{j=1}^{n-1} q^j & \gamma = n \in \mathbb{N} \end{cases} \tag{1.2}$$

and

$$[\gamma]_q! := \begin{cases} 1 & \gamma = 0 \\ \prod_{k=1}^n [k]_q & \gamma = n \in \mathbb{N}. \end{cases}$$

†Article ID: MTJPAM-D-20-00059

Email address: shezaeldeeb@yahoo.com (Sheza M. El-Deeb)

Received:31 December 2020, Accepted:13 October 2021, Published:18 November 2021

\*Corresponding Author: Sheza M. El-Deeb



The  $q$ -derivative of a function  $h(z)$  is  $\mathfrak{D}_q h(z)$  defined as follows:

**Definition 1.2.** The  $q$ -derivative operator for  $h$  is defined by

$$\mathfrak{D}_q h(z) := \begin{cases} \frac{h(qz)-h(z)}{z(q-1)} & z \neq 0 \\ h'(0) & z = 0, \end{cases} \tag{1.3}$$

provided that  $h'(0)$  exists.

We note that

$$\lim_{q \rightarrow 1^-} \mathfrak{D}_q h(z) := \lim_{q \rightarrow 1^-} \frac{h(qz) - h(z)}{z(q - 1)} = h'(z).$$

From (1.1) and (1.3), we have

$$\mathfrak{D}_q h(z) := 1 + \sum_{k=2}^{\infty} [k]_q a_k z^{k-1}, \quad z \neq 0, \tag{1.4}$$

where  $[k]_q$  is defined by (1.2).

Now, using the  $q$ -derivative operator  $\mathfrak{D}_q$ , Govindaraj and Sivasubramanian [6] (see Govindaraj et al. [7], also El-Deeb and El-Matary [5, with  $p = 1$ ]) defined the operator  $\mathfrak{D}_q^n : \mathbb{A} \rightarrow \mathbb{A}$  as follows:

$$\mathfrak{D}_q^0 h(z) = h(z),$$

$$\begin{aligned} \mathfrak{D}_q^1 h(z) &= z \mathfrak{D}_q h(z) = z + \sum_{k=2}^{\infty} [k]_q a_k z^k \\ \mathfrak{D}_q^2 h(z) &= z \mathfrak{D}_q (\mathfrak{D}_q^1 h(z)) = z + \sum_{k=2}^{\infty} ([k]_q)^2 a_k z^k \\ &\vdots \end{aligned} \tag{1.5}$$

$$\begin{aligned} \mathfrak{D}_q^n h(z) &= z \mathfrak{D}_q (\mathfrak{D}_q^{n-1} h(z)) = z + \sum_{k=2}^{\infty} ([k]_q)^n a_k z^k \\ &(n \in \mathbb{N}_0 = \mathbb{N} \cup \{0\}, 0 < q < 1). \end{aligned} \tag{1.6}$$

By specializing the parameter  $q$ , we obtain the following operators:

$$\lim_{q \rightarrow 1^-} \mathfrak{D}_q^n h(z) = \mathfrak{D}^n h(z) = z + \sum_{k=2}^{\infty} k^n a_k z^k, \tag{1.7}$$

where  $\mathfrak{D}^n$  is called Salagean operator (see Salagean [14]).

In [13], Sakaguchi familiarized the class  $\mathfrak{S}_s^*$  of functions  $h(z) \in S$  and satiating the succeeding condition:

$$\Re \left\{ \frac{zh'(z)}{h(z) - h(-z)} \right\} > 0 \quad (z \in \Delta).$$

These functions are called starlike with respect to symmetric points.

In [19], Sudharsan et al. introduced the class  $\mathfrak{S}_s^*(\vartheta, \varsigma)$  of functions  $h(z) \in S$  and satiating the succeeding condition

$$\left| \frac{zh'(z)}{h(z) - h(-z)} - 1 \right| < \varsigma \left| \vartheta \frac{zh'(z)}{h(z) - h(-z)} + 1 \right|$$

for some  $0 \leq \vartheta \leq 1$ ,  $0 < \varsigma \leq 1$  and  $z \in \Delta$ .

Let  $\mathfrak{T}$  denote the subclass of  $S$  consisting of functions of the form:

$$h(z) = a_1z - \sum_{k=2}^{\infty} a_k z^k \quad (a_1 > 0, a_k \geq 0). \tag{1.8}$$

Let the functions of the forms

$$h_i(z) = a_{1,i}z - \sum_{k=2}^{\infty} a_{k,i}z^k \quad (a_{1,i} > 0, a_{k,i} \geq 0), \tag{1.9}$$

$$g(z) = b_1z - \sum_{k=2}^{\infty} b_k z^k \quad (b_1 > 0, b_k \geq 0), \tag{1.10}$$

and

$$g_j(z) = b_{1,j}z - \sum_{k=2}^{\infty} b_{k,j}z^k \quad (b_{1,j} > 0, b_{k,j} \geq 0), \tag{1.11}$$

be regular and univalent in the unit disk  $\Delta$ .

Let us define quasi-Hadamard product of functions  $h(z)$  and  $g(z)$  as follows:

$$(h * g)(z) = a_1b_1z - \sum_{k=2}^{\infty} a_k b_k z^k = (g * h)(z). \tag{1.12}$$

We can define quasi-Hadamard product of more than two functions as follows:

$$(h_1 * h_2 * \dots * h_m)(z) = \prod_{i=1}^m a_{1,i}z - \sum_{k=2}^{\infty} \prod_{i=1}^m a_{k,i}z^k, \tag{1.13}$$

where the functions  $h_i$  ( $i = 1, 2, \dots, m$ ) are given by (1.9).

In [8] Halim et al. defined the class  $\mathfrak{S}_s^* \mathfrak{T}(\vartheta, \varsigma)$  as follows:

**Definition 1.3** ([8]). A function  $h(z)$  be given by (1.8). Then  $h(z)$  is in the class  $\mathfrak{S}_s^* \mathfrak{T}(\vartheta, \varsigma)$  if it satisfies the following condition:

$$\left| \frac{zh'(z)}{h(z) - h(-z)} - 1 \right| < \varsigma \left| \vartheta \frac{zh'(z)}{h(z) - h(-z)} + 1 \right|, \tag{1.14}$$

for some  $0 \leq \vartheta \leq 1$ ,  $0 < \varsigma \leq 1$  and  $z \in \Delta$ .

In [3, with  $n = 1$ ] Aouf et al. defined the class  $\mathfrak{C}_s \mathfrak{T}(\vartheta, \varsigma)$  as follows:

**Definition 1.4** ([3, with  $n = 1$ ]). A function  $h(z)$  be given by (1.8). Then  $h(z)$  is in the class  $\mathfrak{C}_s \mathfrak{T}(\vartheta, \varsigma)$  if it satisfies the following condition:

$$\left| \frac{(zh'(z))'}{h'(z) + h'(-z)} - 1 \right| < \varsigma \left| \vartheta \frac{(zh'(z))'}{h'(z) + h'(-z)} + 1 \right|. \tag{1.15}$$

For some  $0 \leq \vartheta \leq 1$ ,  $0 < \varsigma \leq 1$  and  $z \in \Delta$ . From (1.14) and (1.15) it follows that

$$h(z) \in \mathfrak{C}_s \mathfrak{T}(\vartheta, \varsigma) \Leftrightarrow zh'(z) \in \mathfrak{S}_s^* \mathfrak{T}(\vartheta, \varsigma). \tag{1.16}$$

In [3, with  $n = 1$ ], Aouf et al. defined the class  $\mathfrak{S}^* \mathfrak{T}_{s,n}(\vartheta, \varsigma)$  as follows:

**Definition 1.5** ([3, with  $n = 1$ ]). A function  $h(z)$  be defined by (1.8). Then  $h(z)$  is in the class  $\mathfrak{S}^* \mathfrak{T}_{s,n}(\vartheta, \varsigma)$  if it satisfies the following condition:

$$\left| \frac{\mathfrak{D}^{n+1}h(z)}{\mathfrak{D}^n h(z) - \mathfrak{D}^n h(-z)} - 1 \right| < \varsigma \left| \vartheta \frac{\mathfrak{D}^{n+1}h(z)}{\mathfrak{D}^n h(z) - \mathfrak{D}^n h(-z)} + 1 \right|, \tag{1.17}$$

where  $n \in \mathbb{N}_0$ ,  $0 \leq \vartheta \leq 1$ ,  $0 < \varsigma \leq 1$ ,  $0 \leq \frac{2(1-\varsigma)}{1+\vartheta\varsigma} < 1$ ,  $\mathfrak{D}^n$  is defined by 1.7 and  $z \in \Delta$ .

Using the operator  $\mathfrak{D}_q^n$  given by (1.6), we introduce the subclass  $\mathfrak{S}_{s,n,q}^* \mathfrak{I}(\vartheta, \varsigma)$  as follows:

**Definition 1.6.** Let the function  $h(z)$  be defined by (1.8). Then  $h(z)$  is said to be in the class  $\mathfrak{S}_{s,n,q}^* \mathfrak{I}(\vartheta, \varsigma)$  if it satisfies the following condition:

$$\left| \frac{\mathfrak{D}_q^{n+1}h(z)}{\mathfrak{D}_q^n h(z) - \mathfrak{D}_q^n h(-z)} - 1 \right| < \varsigma \left| \vartheta \frac{\mathfrak{D}_q^{n+1}h(z)}{\mathfrak{D}_q^n h(z) - \mathfrak{D}_q^n h(-z)} + 1 \right|, \tag{1.18}$$

where  $n \in \mathbb{N}_0$ ,  $0 \leq \vartheta \leq 1$ ,  $0 < \varsigma \leq 1$ ,  $0 < q < 1$ ,  $0 \leq \frac{2(1-\varsigma)}{1+\vartheta\varsigma} < 1$ ,  $\mathfrak{D}_q^n$  is defined by 1.6 and  $z \in \Delta$ .

We note that:

- (i)  $\lim_{q \rightarrow 1^-} \mathfrak{S}_{s,0,q}^* \mathfrak{I}(\vartheta, \varsigma) = \mathfrak{S}_s^*(\vartheta, \varsigma)$  and  $\lim_{q \rightarrow 1^-} \mathfrak{S}_{s,1,q}^* \mathfrak{I}(\vartheta, \varsigma) = \mathfrak{C}_s(\vartheta, \varsigma)$  ( $0 \leq \vartheta \leq 1, 0 < \varsigma \leq 1$ );
- (ii)  $\lim_{q \rightarrow 1^-} \mathfrak{S}_{s,0,q}^* \mathfrak{I}(\vartheta, \varsigma) = \mathfrak{S}_{s,q}^*(\vartheta, \varsigma)$  and  $\lim_{q \rightarrow 1^-} \mathfrak{S}_{s,1,q}^* \mathfrak{I}(\vartheta, \varsigma) = \mathfrak{C}_{s,q}(\vartheta, \varsigma)$  ( $0 \leq \vartheta \leq 1, 0 < \varsigma \leq 1, 0 < q < 1$ );
- (iii)  $\mathfrak{S}_{s,n_1,q}^* \mathfrak{I}(\vartheta, \varsigma) \subset \mathfrak{S}_{s,n_2,q}^* \mathfrak{I}(\vartheta, \varsigma)$  ( $n_1 > n_2 \geq 0$ );
- (iv)  $\mathfrak{S}_{s,n,q}^* \mathfrak{I}(\vartheta, \varsigma) \subset \mathfrak{S}_{s,n-1,q}^* \mathfrak{I}(\vartheta, \varsigma) \subset \dots \subset \mathfrak{C}_{s,q}(\vartheta, \varsigma) \subset \mathfrak{S}_{s,q}^*(\vartheta, \varsigma)$  ( $n \in \mathbb{N}, 0 < q < 1, 0 \leq \vartheta \leq 1, 0 < \varsigma \leq 1$ ).

In this paper, we derive certain results associated with the quasi-Hadamard product of functions in the classes  $\mathfrak{S}_{s,q}^* \mathfrak{I}(\vartheta, \varsigma)$ ,  $\mathfrak{C}_{s,q}(\vartheta, \varsigma)$  and  $\mathfrak{S}_{s,n,q}^* \mathfrak{I}(\vartheta, \varsigma)$ , which extend the results obtained by Kumar [11, 12], Darwish [4] and Aouf [2].

## 2. Main results

Unless otherwise mentioned, we assume throughout this paper that:  $n \in \mathbb{N}_0$ ,  $0 \leq \vartheta \leq 1$ ,  $0 < \varsigma \leq 1$ ,  $0 < q < 1$  and  $z \in \Delta$ .

To prove our results, we need the following lemmas.

**Lemma 2.1.** A function  $h(z)$  be defined by (1.8) and  $h(z) - h(-z) \neq 0$  for  $z \neq 0$ . Then  $h(z) \in \mathfrak{S}_{s,q}^* \mathfrak{I}(\vartheta, \varsigma)$  if and only if

$$\sum_{k=2}^{\infty} \left\{ (1 + \vartheta\varsigma) [k]_q + (\varsigma - 1) [1 - (-1)^k] \right\} a_k \leq (\varsigma(2 + \vartheta) - 1) a_1. \tag{2.1}$$

**Lemma 2.2.** A function  $h(z)$  be defined by (1.8) and  $h'(z) - h'(-z) \neq 0$  for  $z \neq 0$ . Then  $h(z) \in \mathfrak{C}_{s,q}(\vartheta, \varsigma)$  if and only if

$$\sum_{k=2}^{\infty} [k]_q \left\{ (1 + \vartheta\varsigma) [k]_q + (\varsigma - 1) [1 - (-1)^k] \right\} a_k \leq (\varsigma(2 + \vartheta) - 1) a_1. \tag{2.2}$$

**Lemma 2.3.** A function  $h(z)$  be defined by (1.8) and  $\mathfrak{D}^n h(z) - \mathfrak{D}^n h(-z) \neq 0$  for  $z \neq 0$ . Then  $h(z) \in \mathfrak{S}_{s,n,q}^* \mathfrak{I}(\vartheta, \varsigma)$  if and only if

$$\sum_{k=2}^{\infty} [k]_q^n \left\{ (1 + \vartheta\varsigma) [k]_q + (\varsigma - 1) [1 - (-1)^k] \right\} a_k \leq (\varsigma(2 + \vartheta) - 1) a_1. \tag{2.3}$$

*Proof.* Let  $|z| = 1$ . Then we have

$$\begin{aligned} & \left| \mathfrak{D}_q^{n+1}h(z) - (\mathfrak{D}_q^n h(z) - \mathfrak{D}_q^n h(-z)) \right| - \varsigma \left| \vartheta \mathfrak{D}_q^{n+1}h(z) + (\mathfrak{D}_q^n h(z) - \mathfrak{D}_q^n h(-z)) \right| \\ &= \left| z + \sum_{k=2}^{\infty} [k]_q^n \left( [k]_q - 1 + (-1)^k \right) a_k z^k \right| - \varsigma \left| (\vartheta + 2)z - \sum_{k=2}^{\infty} [k]_q^n \left( \vartheta [k]_q + 1 - (-1)^k \right) a_k z^k \right| \\ &\leq \sum_{k=2}^{\infty} [k]_q^n \left\{ (1 + \vartheta\varsigma) [k]_q + (\varsigma - 1) [1 - (-1)^k] \right\} a_k - [\varsigma(\vartheta + 2) - 1] \leq 0. \end{aligned}$$

Hence, by the maximum modules theorem, we have  $f \in \mathfrak{S}^* \mathfrak{T}_{s,n,q}(\vartheta, \varsigma)$ .

For the converse, assume that

$$\left| \frac{\frac{\mathfrak{D}_q^{n+1}h(z)}{(\mathfrak{D}_q^n h(z) - \mathfrak{D}_q^n h(-z))} - 1}{\vartheta \frac{\mathfrak{D}_q^{n+1}h(z)}{(\mathfrak{D}_q^n h(z) - \mathfrak{D}_q^n h(-z))} + 1} \right| = \left| \frac{-z - \sum_{k=2}^{\infty} [k]_q^n ([k]_q - 1 + (-1)^k) a_k z^k}{(\vartheta + 2)z - \sum_{k=2}^{\infty} [k]_q^n (\vartheta [k]_q + 1 - (-1)^k) a_k z^k} \right| < \varsigma.$$

Since  $|\Re(z)| \leq |z|$  for all  $z$ , we have

$$\Re \left\{ \frac{z + \sum_{k=2}^{\infty} [k]_q^n ([k]_q - 1 + (-1)^k) a_k z^k}{(\vartheta + 2)z - \sum_{k=2}^{\infty} [k]_q^n (\vartheta [k]_q + 1 - (-1)^k) a_k z^k} \right\} < \varsigma. \tag{2.4}$$

Take values of  $z$  on the real axis so that  $\frac{\mathfrak{D}_q^{n+1}h(z)}{(\mathfrak{D}_q^n h(z) - \mathfrak{D}_q^n h(-z))}$  is real and  $\mathfrak{D}_q^n h(z) - \mathfrak{D}_q^n h(-z) \neq 0$  for  $z \neq 0$ . Upon clearing the denominator in (2.4) and letting  $z \rightarrow 1^-$  through real values, we acquire

$$1 + \sum_{k=2}^{\infty} [k]_q^n ([k]_q - 1 + (-1)^k) a_k \leq \varsigma(\vartheta + 2) - \varsigma \sum_{k=2}^{\infty} [k]_q^n (\vartheta [k]_q + 1 - (-1)^k) a_k.$$

This gives the required condition. □

**Theorem 2.4.** *The functions  $h_i(z)$  be defined by (1.9) be in the class  $\mathfrak{C}_{s,s} \mathfrak{T}(\vartheta, \varsigma)$  for every  $i = 1, 2, \dots, u$ , and let the functions  $g_j(z)$  be defined by (1.11) be in the class  $\mathfrak{S}^* \mathfrak{T}_{s,n,q}(\vartheta, \varsigma)$  for every  $j = 1, 2, \dots, v$ . Then quasi-Hadamard product  $h_1 * h_2 * \dots * h_u * g_1 * g_2 * \dots * g_v$  belongs to the class  $\mathfrak{S}^* \mathfrak{T}_{s,2u+(n+1)v-1,q}(\vartheta, \varsigma)$ .*

*Proof.* Let  $\mathfrak{G}(z) = h_1 * h_2 * \dots * h_u * g_1 * g_2 * \dots * g_v$ , then

$$\mathfrak{G}(z) = \left( \prod_{i=1}^u a_{1,i} \prod_{j=1}^v b_{1,j} \right) z - \sum_{k=2}^{\infty} \left( \prod_{i=1}^u a_{k,i} \prod_{j=1}^v b_{k,j} \right) z^k. \tag{2.5}$$

It is sufficient to show that

$$\sum_{k=2}^{\infty} [k]_q^{2u+(n+1)v-1} \left\{ (1 + \vartheta\varsigma) [k]_q + (\varsigma - 1) [1 - (-1)^k] \right\} \left( \prod_{i=1}^u a_{k,i} \prod_{j=1}^v b_{k,j} \right) \leq (\varsigma(2 + \vartheta) - 1) \left( \prod_{i=1}^u a_{1,i} \prod_{j=1}^v b_{1,j} \right). \tag{2.6}$$

Since  $h_i \in \mathfrak{C} \mathfrak{T}_{s,q}(\vartheta, \varsigma)$ , by using Lemma 2.2, we have

$$\sum_{k=2}^{\infty} [k]_q \left\{ (1 + \vartheta\varsigma) [k]_q + (\varsigma - 1) [1 - (-1)^k] \right\} a_{k,i} \leq (\varsigma(2 + \vartheta) - 1) a_{1,i}, \quad \forall i = 1, 2, \dots, u. \tag{2.7}$$

Thus,

$$[k]_q \left\{ (1 + \vartheta\varsigma) [k]_q + (\varsigma - 1) [1 - (-1)^k] \right\} a_{k,i} \leq (\varsigma(2 + \vartheta) - 1) a_{1,i}, \quad \forall i = 1, 2, \dots, u.$$

The right-hand expression of the last inequality is not greater than  $[k]_q^{-2} a_{1,i}$ . Therefore,

$$a_{k,i} \leq [k]_q^{-2} a_{1,i}, \quad \forall i = 1, 2, \dots, u. \tag{2.8}$$

Also, since  $g_j \in \mathfrak{S}^* \mathfrak{T}_{s,n,q}(\vartheta, \varsigma)$ , by using Lemma 2.3, we obtain

$$\sum_{k=2}^{\infty} [k]_q^n \left\{ (1 + \vartheta\varsigma) [k]_q + (\varsigma - 1) [1 - (-1)^k] \right\} b_{k,j} \leq (\varsigma(2 + \vartheta) - 1) b_{1,j}, \quad \forall j = 1, 2, \dots, v. \tag{2.9}$$

Hence, we obtain

$$b_{k,j} \leq [k]_q^{-(n+1)} b_{1,j}, \quad \forall j = 1, 2, \dots, v. \tag{2.10}$$

Using (2.8)-(2.10) for  $i = 1, 2, \dots, u$ ,  $j = v$  and  $j = 1, 2, \dots, v - 1$ , respectively, we have

$$\begin{aligned} & \sum_{k=2}^{\infty} \left[ [k]_q^{2u+(n+1)v-1} \left\{ (1 + \vartheta\varsigma) [k]_q + (\varsigma - 1) [1 - (-1)^k] \right\} \left( \prod_{i=1}^u a_{k,i} \prod_{j=1}^v b_{k,j} \right) \right] \\ & \leq \sum_{k=2}^{\infty} \left[ [k]_q^{2u+(n+1)v-1} [k]_q^{-2u} [k]_q^{-(n+1)(v-1)} \left( \prod_{i=1}^u a_{1,i} \prod_{j=1}^{v-1} b_{1,j} \right) \right. \\ & \quad \times \left. \left\{ (1 + \vartheta\varsigma) [k]_q + (\varsigma - 1) [1 - (-1)^k] \right\} b_{k,v} \right] \\ & \leq \left( \prod_{i=1}^u a_{1,i} \prod_{j=1}^{v-1} b_{1,j} \right) \times \sum_{k=2}^{\infty} [k]_q^n \left\{ (1 + \vartheta\varsigma) [k]_q + (\varsigma - 1) [1 - (-1)^k] \right\} b_{k,v} \\ & \leq (\varsigma(2 + \vartheta) - 1) \left( \prod_{i=1}^u a_{1,i} \prod_{j=1}^v b_{1,j} \right). \end{aligned} \tag{2.11}$$

Thus, we have  $G(z) \in \mathfrak{S}^* \widetilde{\mathfrak{T}}_{s,2u+(n+1)v-1,q}(\vartheta, \varsigma)$ . This completes the proof of Theorem 2.4. □

Putting  $n = 1$  in Theorem 2.4, we obtain the following corollary:

**Corollary 2.5.** *Let the functions  $h_i(z)$  be defined by (1.9) and the functions  $g_j(z)$  be defined by (1.11) belong to the class  $\mathfrak{S}^*_{s,q}(\vartheta, \varsigma)$  for every  $i = 1, 2, \dots, u$  and  $j = 1, 2, \dots, v$ . Then quasi-Hadamard product  $h_1 * h_2 * \dots * h_u * g_1 * g_2 * \dots * g_v$  belongs to the class  $\mathfrak{S}^* \widetilde{\mathfrak{T}}_{s,2u+2v-1,q}(\vartheta, \varsigma)$ .*

**Theorem 2.6.** *Let the functions  $h_i(z)$  be defined by (1.9) be in the class  $\mathfrak{S}^* \widetilde{\mathfrak{T}}_{s,n,q}(\vartheta, \varsigma)$  for every  $i = 1, 2, \dots, u$ , and let the functions  $g_j(z)$  be defined by (1.11) be in the class  $\mathfrak{S}^* \widetilde{\mathfrak{T}}_{s,q}(\vartheta, \varsigma)$  for every  $j = 1, 2, \dots, v$ . Then quasi-Hadamard product  $h_1 * h_2 * \dots * h_u * g_1 * g_2 * \dots * g_v$  belongs to the class  $\mathfrak{S}^* \widetilde{\mathfrak{T}}_{s,(n+1)u+v-1,q}(\vartheta, \varsigma)$ .*

*Proof.* Let  $\mathfrak{G}(z)$  is defined by (2.5). It is sufficient to show that

$$\sum_{k=2}^{\infty} [k]_q^{(n+1)u+v-1} \left\{ (1 + \vartheta\varsigma) [k]_q + (\varsigma - 1) [1 - (-1)^k] \right\} \left( \prod_{i=1}^u a_{k,i} \prod_{j=1}^v b_{k,j} \right) \leq (\varsigma(2 + \vartheta) - 1) \left( \prod_{i=1}^u a_{1,i} \prod_{j=1}^v b_{1,j} \right). \tag{2.12}$$

Since  $h_i \in \mathfrak{S}^* \widetilde{\mathfrak{T}}_{s,n,q}(\vartheta, \varsigma)$ , by using Lemma 2.3, we have

$$\sum_{k=2}^{\infty} [k]_q^n \left\{ (1 + \vartheta\varsigma) [k]_q + (\varsigma - 1) [1 - (-1)^k] \right\} a_{k,i} \leq (\varsigma(2 + \vartheta) - 1) a_{1,i}, \quad \forall i = 1, 2, \dots, u. \tag{2.13}$$

Hence, we get

$$a_{k,i} \leq [k]_q^{-(n+1)} a_{1,i}, \quad \forall i = 1, 2, \dots, u. \tag{2.14}$$

Furthermore, since  $g_j \in \mathfrak{S}^* \widetilde{\mathfrak{T}}_{s,q}(\vartheta, \varsigma)$ , by using Lemma 2.1, we have

$$\sum_{k=2}^{\infty} \left\{ (1 + \vartheta\varsigma) [k]_q + (\varsigma - 1) [1 - (-1)^k] \right\} b_{k,j} \leq (\varsigma(2 + \vartheta) - 1) b_{1,j}, \quad \forall j = 1, 2, \dots, v. \tag{2.15}$$

Hence, we obtain

$$b_{k,j} \leq k^{-1} b_{1,j}, \quad \forall j = 1, 2, \dots, q. \tag{2.16}$$

Using (2.14)-(2.16) for  $i = u$ ,  $i = 1, 2, \dots, u - 1$  and  $j = 1, 2, \dots, v$ , respectively, we have

$$\begin{aligned}
 & \sum_{k=2}^{\infty} [k]_q^{(n+1)u+v-1} \left\{ (1 + \vartheta\zeta) [k]_q + (\zeta - 1) [1 - (-1)^k] \right\} \prod_{i=1}^u a_{k,i} \prod_{j=1}^v b_{k,j} \\
 & \leq \sum_{k=2}^{\infty} [k]_q^{(n+1)u+v-1} [k]_q^{-(n+1)(u-1)} [k]_q^{-v} \left( \prod_{i=1}^{u-1} a_{1,i} \prod_{j=1}^v b_{1,j} \right) \\
 & \quad \times \left\{ (1 + \vartheta\zeta) [k]_q + (\zeta - 1) [1 - (-1)^k] \right\} a_{k,m} \\
 & \leq \left( \prod_{i=1}^{u-1} a_{1,i} \prod_{j=1}^v b_{1,j} \right) \times \sum_{k=2}^{\infty} [k]_q^n \left\{ (1 + \vartheta\zeta) [k]_q + (\zeta - 1) [1 - (-1)^k] \right\} a_{k,u} \\
 & \leq (\zeta(2 + \vartheta) - 1) \left( \prod_{i=1}^u a_{1,i} \prod_{j=1}^v b_{1,j} \right). \tag{2.17}
 \end{aligned}$$

Thus, we have  $\mathfrak{G}(z) \in \mathfrak{S}^* \mathfrak{T}_{s,(n+1)u+v-1}(\vartheta, \zeta)$ . This completes the proof of Theorem 2.6. □

Putting  $n = 0$  in Theorem 2.6, we obtain the following corollary:

**Corollary 2.7.** *Let the functions  $h_i(z)$  be defined by (1.9) and the functions  $g_j(z)$  be defined by (1.11) belong to the class  $\mathfrak{S}^* \mathfrak{T}_{s,q}(\vartheta, \zeta)$  for every  $i = 1, 2, \dots, u$  and  $j = 1, 2, \dots, v$ . Then quasi-Hadamard product  $h_1 * h_2 * \dots * h_u * g_1 * g_2 * \dots * g_v$  belongs to the class  $\mathfrak{S}^* \mathfrak{T}_{s,u+v-1,q}(\vartheta, \zeta)$ .*

Putting  $n = 0$  in Theorem 2.4, or  $n = 1$  in Theorem 2.6, we obtain the following corollary:

**Corollary 2.8.** *Let the functions  $h_i(z)$  be defined by (1.9) be in the class  $\mathfrak{C} \mathfrak{T}_{s,q}(\vartheta, \zeta)$  for every  $i = 1, 2, \dots, u$ , and let the functions  $g_j(z)$  be defined by (1.11) be in the class  $\mathfrak{S}^* \mathfrak{T}_{s,q}(\vartheta, \zeta)$  for every  $j = 1, 2, \dots, v$ . Then quasi-Hadamard product  $h_1 * h_2 * \dots * h_u * g_1 * g_2 * \dots * g_v$  belongs to the class  $\mathfrak{S}^* \mathfrak{T}_{s,2u+v-1}(\vartheta, \zeta)$ .*

### 3. Conclusions

In this paper, we used the conception of  $q$ -calculus operator  $\mathfrak{D}_q^n$ , and we demarcated and explored a new subclass  $\mathfrak{S}^* \mathfrak{T}_{s,n,q}(\vartheta, \zeta)$  of analytic functions in the open unit disk  $\Delta$ . We also consequent several results of quasi-Hadamard product of recently defined subclass of analytic functions with respect to symmetric points. We have emphasized some significances of our main results as corollaries.

### References

[1] M. H. Abu Risha, M. H. Annaby, M. E. H. Ismail and Z. S. Mansour, *Linear  $q$ -difference equations*, Z. Anal. Anwend. **26**, 481–494, 2007.  
 [2] M. K. Aouf, *The quasi-hadamard product of certain analytic functions*, Applied Math. Letters **21** (11), 1184–1187, 2008.  
 [3] M. K. Aouf, R. M. El-Ashwah and S. M. El-Deeb, *Certain classes of univalent functions with negative coefficients and  $n$ -starlike with respect to certain points*, Math. Vesnik **62** (3), 215–226, 2010.  
 [4] H. E. Darwish, *The quasi-hadamard product of certain starlike and convex functions*, Applied Math. Letters **20** (6), 692–695, 2007.  
 [5] S. M. El-Deeb and B. M. El-Matary, *Coefficients bounds of multivalent function connected with  $q$ -analogue of Salagean operator*, Appli. Math. and Information Sci. **14** (6), 1057–1065, 2020.  
 [6] M. Govindaraj and S. Sivasubramanian, *On a class of analytic functions related to conic domains involving  $q$ -calculus*, Analysis Math. **43**, 475–487, 2017; DOI: 10.1007/s10476-017-0206-5.  
 [7] M. Govindaraj, S. Sivasubramanian and G. Murugusundaramoorthy, *Subclass of analytic functions in conic domains associated with symmetric  $q$ -derivative operator*, J. of Combinatorics, Information & System Sciences **44** (1-4), 35–56, 2019; DOI:10.32381/JCISS.2018.43.1-4.1.  
 [8] S. A. Halim, A. Janteng and M. Daruse, *Coefficient properties for classes with negative coefficient and starlike with respect to other points*, Proceeding of the 13th Math. Sci. Nat. Symposium, UUM, 2, 658–663, 2005.  
 [9] F. H. Jackson, *On  $q$ -functions and a certain difference operator*, Trans. Royal Soc. Edinburgh **46** (2), 253–281, 1909; DOI:10.1017/S0080456800002751.  
 [10] F. H. Jackson, *On  $q$ -finite integrals*, Quart. J. Pure Appl. Math. **41**, 193–203, 1910.  
 [11] V. Kumar, *Hadamard product of certain starlike functions*, J. Math. Analysis. Appli. **110** (2), 425–428, 1985.  
 [12] V. Kumar, *Quasi-hadamard product of certain univalent functions*, J. Math. Analysis. Appli. **126** (1), 70–77, 1987.

- [13] K. Sakaguchi, *On certain univalent mapping*, J. Math. Soc. Japan. **11**, 72–75, 1959.
- [14] G. S. Salagean, *Subclasses of univalent functions*, Lecture Notes in Math. (Springer-Verlag) **1013**, 362–372, 1983.
- [15] H. M. Srivastava, *Certain  $q$ -polynomial expansions for functions of several variables*. I and II, IMA J. Appl. Math. **30**, 205–209, 1983.
- [16] H. M. Srivastava, *Univalent functions, fractional calculus, and associated generalized hypergeometric functions*, in *univalent functions, fractional calculus, and their applications* (H. M. Srivastava and S. Owa, Editors), Halsted Press (Ellis Horwood Limited, Chichester), pp. 329–354, John Wiley and Sons, New York, Chichester, Brisbane and Toronto, 1989.
- [17] H. M. Srivastava, *Operators of basic (or  $q$ -) calculus and fractional  $q$ -calculus and their applications in geometric function theory of complex analysis*, Iran J Sci Technol Trans Sci **44**, 327–344, 2020.
- [18] H. M. Srivastava and P. W. Karlsson, *Multiple Gaussian hypergeometric series*, Wiley, New York, 1985.
- [19] T. V. Sudharsan, P. Balasubrahmanyam and K. G. Subramanian, *On functions starlike with respect to symmetric and conjugate points*, Taiwanese J. Math. **2**, 57–68, 1998.